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Try it 1B
1	 x x3 8 5 6+ = −

x x8 2 6 2 14= − ⇒ =
x 7⇒ =

2	 x x7 4 8− > +
x x6 4 8 6 12− > ⇒ >

x 2⇒ >  
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3	 x A Bx3( ) 1+ = +  

x A Bx x Bx A3 3 1 3 1 3+ = + ⇒ − = −

x B A(3 ) 1 3⇒ − = −

x
A
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1 3

3
⇒ = −

−
4	 x y x y2 5 1,    3 2 27+ = − = −  

Multiply first equation by 3 and second 
equation by 2 to give:

× + = ×
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− = −
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−
+ − − = − −
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(1)  (2):

(6 15 ) (6 4 ) 3 ( 54)

19 57
y 3⇒ =

Substitute y value into one of the original 
equations, for 2x + 5y = 1:

+ =
+ =

x

x

2 5(3) 1

2 15 1
x2 14= −
x 7⇒ = −

5	 y x3 4,= +  y x6 2= −
Substitute for y:
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x x

x
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4 3 2
x3 6=
x 2⇒ =

Substitute x value into one of the original 
equations, for y = 3x + 4: 
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⇒ =

So the lines intersect at (2, 10)	

Bridging Exercise 1B
1a	 x3(2 9) 7+ =

+ =
= −

x

x

6 27 7

6 20

x
20

6
10

3

= −

= −

1b	 x7 3 12− = 	
− =

= −

x

x

3 5
5

3

1c	
x 4

5
7

+ =

x

x

4 35

31

+ =
=

1d	 x x2 7 5 6+ = −
x

x

7 3 6

3 13

= −
=

x
13

3
=

1e	 x x8 3 2(3 1)− = +
x x

x

8 3 6 2

2 3 2

− = +
− =

x2 5=
x

5

2
2.5

=

=

1f	
x

x
2 9

12
1

+ = −

x x

x

2 9 12 12

9 10 12

+ = −
= −

x10 21=

x
21

10
2.1

=

=
1g	 x x2(3 7) 4− =

x x

x

6 14 4

2 14

− =
=

x 7=

1h	 x x

x x

7 2 3(4 5 )

7 2 12 15

− = −
− = −

x

x

7 13 12

13 5

− =
=

x
5

13
=

2a	
x

2
7 5+ ≥

≥ −

≥ −

x

x
2

2

4
2b	 x3 4 15− <

x

x

x

4 12

12 4

3

− <
− <

> −
2c	 x x5( 1) 12− > +

− > +
>

x x

x

5 5 12

4 17

x
17

4
>

Ch01_Online_Bridging_Edxcel_Answer_Only.indd   7 29/07/19   4:45 PM



Bridging Unit: Algebra 1 8
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Multiply second equation by 5: 

× + = ×
+ =
x y

x y

5 ( 5 ) 5 4

5 25 20 	 (2)

Then (2) - (1): 
(5x + 25y) - (5x + 12y) = 20 - (-6) 
		 y

y
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⇒ =
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Bridging Unit: Algebra 1 9

Substitute y value into one of the original 
equations, for x + 5y = 4: 

	 x + 5(2) = 4 

	

x

x

10 4

6 

+ =
⇒ = −

4b	 x y x y7 5 14,   3 4 19+ = + =  

Multiply first equation by 4: 
x y

x y

4 (7 5 ) 4 14

28 20 56  (1)

× + = ×
+ =

Multiply second equation by 5: 
x y

x y

5 (3 4 ) 5 19

15 20 95   (2)

× + = ×
+ =

(1) - (2): 

(28x + 20y) - (15x + 20y) = 56 - 95

	 x

x

13 39

3

⇒ = −
⇒ = −

Substitute x value into one of the original 
equations, for 7x + 5y = 14: 

	 7(-3) + 5y = 14 

	 y

y

21 5 14

7

− + =
⇒ =

4c	 x y x y2 5 4,   3 8 5− = − =

Multiply first equation by 3: 
× − = ×

− =
x y

x y

3 (2 5 ) 3 4

6 15 12     (1)
Multiply second equation by 2: 

× − = ×
− =
x y

x y

2 (3 8 ) 2 5

6 16 10     (2)
−
− − − = −

⇒ =
x y x y

y

(1)  (2):  

(6 15 ) (6 16 ) 12 10

2

Substitute y value into one of the original 
equations, for 2x - 5y = 4: 

	 2x - 5(2) = 4 

	

x

x

2 10 4

7

− =
⇒ =

4d	 x y x y3 2 2,   8 3 4.5− = + =

Multiply first equation by 3: 
x y

x y

3 (3 2 ) 3 2

9 6 6   (1)

× − = ×
− =

Multiply second equation by 2: 
x y

x y

2 (8 3 ) 2 4.5

16 6 9    (2)

× + = ×
+ =

x y x y

x

x

(1)  (2):  

(9 6 ) (16 6 ) 6 9

25 15

3

5

+
− + + = +

⇒ =

⇒ =

 

Substitute x value into one of the original 
equations, for 3x - 2y = 2: 

y

y

y

y

3
3

5
2 2

9

5
2 2

2
1

5
1

10

⇒ 



 − =

− =

− =

⇒ = −

 

4e	 x y x y5 2 11,  2 3 22− = − + =
Multiply the first equation by 2: 

x y

x y

2 (5 2 ) 2 11

10 4 22 (1)

× − = ×
− =

 

Multiply the second equation by 5: 
x y5 ( 2 3 ) 5 22× − + = ×

x y10 15 110− + =   (2)

(1) + (2): 
(10x - 4y) + (-10x + 15y) = 22 + 110 

y

y

11 132

12

⇒ =
⇒ =

Substitute y value into one of the original 
equations, for 5x - 2y = 11: 

⇒ − =
− =

=

x

x

x

5 2(12) 11

5 24 11

5 35
 ⇒ x 7=

4f	 x y x y8 5 0.5,  6 4 3.5+ = − − + = −  

Multiply first equation by 3: 

× + = × −
+ = −
x y

x y

3 (8 5 ) 3 0.5

24 15 1.5 (1)

Multiply second equation by 4: 
× − + = × −

− + = −
x y

x y

4 ( 6 4 ) 4 3.5

24 16 14 (2)

(1) + (2): 

(24x + 15y) + (-24x + 16y) = -1.5 + -14 

⇒ = −

⇒ = −

y

y

31 15.5

1

2
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Bridging Unit: Algebra 1 10

Substitute y value into one of the original 
equations, for 8x + 5y = -0.5: 

⇒ x8 5
1

2
0.5 + −



 = −  

− = −

=

⇒ =

x

x

x

8
5

2

1

2
8 2

1

4

 

5a	 y x y x8 3 ,  2 5= − = −
Substitute for y: 

x x

x

2 5 8 3

6 2

− = −
− =

x 3= −
Substitute x value into one of the original 
equations, for y = 8 - 3x: 

⇒ = − −
= +
=

y 8 3( 3)

8 9

17
So the lines intersect at ( 3, 17)−

5b	 y x y x7 4,  3 2= − = −
Substitute for y: 

x x

x

3 2 7 4

2 4

− = −
=

  x
1

2
=

Substitute x value into one of the original 
equations, for y = 3x - 2: 

⇒ = 



 −

= −

= −

y 3
1

2
2

3

2
2

1

2
So the lines intersect at 

1

2
,

1

2
−





5c	 = + = −y x y x2 3,  5

Substitute for y: 
x x

x

5 2 3

3 2

− = +
=

  x
2

3
=

Substitute x value into one of the original 
equations, for y = 5 - x: 

⇒ = −

=

y 5
2

3
13

3
So the lines intersect at 

2

3
,
13

3






5d	 + = = − +y x y x5 3 ,   5 7

Substitute for y: 

	 x x

x

3 5 5 7

8 12

− = − +
=

x 1.5=
Substitute x value into one of the original 
equations, for y = -5x + 7: 

⇒ y 5(1.5) 7

0.5

= − +
= −

So the lines intersect at (1.5,  0.5)−

5e	 = + = −y x y x
1

2
3,  5 2

Substitute for y:

x x

x

1

2
3 5 2

5

2
2

+ = −

=
x 0.8=

Substitute x value into one of the original 
equations, for y = 5 - 2x: 

⇒ y 5 2(0.8)

5 1.6

3.4

= −
= −
=

So the lines intersect at (0.8, 3.4)

5f	 y x3( 2)= + , y x7 2= −

Substitute for y: 
x x

x

3 6 7 2

5 1

+ = −
=

x 0.2=

Substitute x value into one of the original 
equations, for y = 7 - 2x:

⇒ y 7 2(0.2)

7 0.4

6.6

= −
= −
=

So the lines intersect at (0.2, 6.6)

Try it 1C
1a	 x x x x14 7 7 (2 1)2 − = −

1b	 x x x x5 4 ( 4)( 1)2 − + = − −

1c	 x x x25 ( 5)( 5)2 − = + −
2a	 x x x x x5 21 4 5 20 42 2+ + = + + +

x x x5 ( 4) ( 4)= + + +

x x(5 1)( 4)= + +
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